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1- If the three altitudes of a triangle are congruent
then the triangleis ___
equilateral {usvi$si~ (B)
acute angled sl (D)

2- The area of parallelogram base x altitude

2z (D) < (C)
3- Line/lines can be drawn through two points
4 (D) 3 (C)

4- The bisectors of the angles of a triangle are ____
parallel (15 (D) perpendicular‘ U (C)
5- In a parallelogram, opposite angles are ______
congruent Ji* (D) smaller L (C)
point/points.

4 (C)

3~ Two lines can intersect at ______
3 (D)
7- A triangle having all sides different, is called
fight angled s/1=#6 (B)
equilateral L uzUisl— (D)

3- x =0 is a solution of the inequlaity.

x-2<0 (D) x+2<0 (C)
9- Which ordered pair satisfies the equation y = 2x
0,1) (D) (1,2) (©)
'0- The square root of al_2a+1is |
t(a-1) (D) a-1 (C)

“1- Factors of 5x>—17 xy—12y2 are
(5x-4y),x+3y) (D) (x—4y),(5x-3y) (C)

2- logm" can be written as

mlogn (D) nlogm (C)
3- (\/; + \/—t;)(\/_ - \/E) is equal to
a+b (D) a~b (C)
- The value of i9 is
—i (D) i (©)
2 6
5- |If 3 x( =0 then x is equal to
-9 (D) 6 (C)
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right angled /1246 (A)
isosceles cAUIGs~ (C)
GG x S sl 3K Geul §ii5 -2

=(B) > A
UELE LI P b JiBy -3
2 (B) 1 (A)
gl Ly leks 4

non-concurrent &¢# (B)  concurrent B (A)
Y P INS |Pa 91 1 9/l
equal < (B) greater <% (A)
SESE IS 1¥s 8
1 (B) 2 (A)
e Qb ae B S o (B L P ek g off 7
isosceles u§ VIl (A)
scalene {WwiiL® (C)
‘Lde.pr’L.:,ul/j x=0 -8
3x+5<0 (B) x>0 (A
e Chy L y=2X ah-siLuf -9
(2,2) (B) 2,n @&
e UMl € a’—2a+1 -10
a+1 (B) +a+1) (A
g AL 5xP-1Txy-12y° <11
(x—4y),(5x+3y) (B) (x+4y),(5x+3y) (A)
e CeWipuns logm® 12
log(mn) (B) (logm)" (A)

< 4l (\/; + \/E)(\[a —JE) -13

2 2

a’-b> (B) a’+b2 (A
a..:w:f'd/i9 -14
-1 (B) 1 (A)
26
e 4z x I 3 x)=° S -15
-6 (B) 9 (A
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Note: Section I is compulsory. Solve any THREE (8) questions (8) f e G:( = ufru,..‘o -¢-$ Jﬁl.b 1y
from Section I1. However question No. NINE (9) is compulsory -4~ g (9) J):; Ji (" t‘-.éd' &Ub’
’ Section I )il o
2- Write short answers to any SIX questions: (2x6=12) & felrfloir @) il 2
i- Define symmetric matrix. -é .4_//7 e o o f
- _ 2 3 p|? 3 i )
II- Find the transpose of the matrix D = G 5 “lo 5 23: r}"‘),;"l/ F b il
iii- Simplify /- 125 Y-125 =L i
. 2 2 )
iv- Simplify  (x%)” = x° oY e EA v
1 1
v- Evaluate log, — log, — #Epred v
2128 2108 =
’ 21x S 21x5 . o P - .
Vi- Write into logarithm sum or difference log log - i Pk FLIo) Le AL r‘fﬁ’)’ -V
vii- Reduce the rational expression to the lowest form g ..//; v F Q}/‘?f & _vii
120xzy3z5 120)(2y3z5
30 x3y z 30 x3y z’
1 1.
viii- Ifx=2_\/§thenfind; -érﬁ'g{‘f;yn x=2-+3 /A -vii
; : 2 2 2 2, >
ix- Factorize 4x°—16y 4x°-16y éd/‘ _ix
3- Write short answers to any SIX questions: (2x6=12) -i {;’aymﬁéauws){c_éf .._3
i- Find H.C.F. of the given expressions 'j::ir}’*f"’uu oML oo BFLSF i
x2+5x+6, x2—4x-12 X2+ 5%+6, x2-4x—12
x-3 x-2 x-3 x-2
ii- Solve the equation = =-] — ==z fabl -i
\ 3 2 | 3 2 s
iii- Solve the inequality 9-7x>19-2x,xeR 9-7x>19-2x,xeR & Lanlf i
iv- Write the given equation in the form y = mx+c¢ é_/fuﬁ J’jJ y =mx+c S ebls Gfd; -iv
X—-2y=-2 Xx-2y=-2
v- Define collinear points. EAY NPT BE v
vi- Find the distance between given points ’2’; (}"JJG 8&(» o6 L Ly Vi
A(-8,1) , B(6,1) A(-8,1) , B(6,1)
vii- Define scalene triangle. g ek Lo G i
vii- What is meant by S.S.S. = S.S.S. e dpife Shlf = LS i
ix- Find m from the given parallelogram ir}".wf J m-< & ueul §15 Jd; ~ix

P
(5m+10)° 56°
85°
L M

: (A1)

P N
(5m+10)° 55°
58°
L M

{



2 quriag

Write short answers to any SIX questions: (2x6=12) -é;/'.:yz/ﬂé.-,wr(s){c_df -4
i- Define right bisector of a line segment. -?;i: 4/76..«% Gf Ll B -
ii- Verify that 3cm , 4cm and 5cm are lengths of sides S s £ e (1 5om sl 4em, 3em SZE a8 i
of a triangle. -Jr Uk
iii- Define congruent triangles. g ot S i
iv- Define ratio. e v
v- The three sides of a triangle are of measure 8, x and $ xour 17 1%, 8 2P UKW Sw £ edse i v
17 respectively. For what value of x will it become ?(ng - ng;lﬂl G d’i} 2L _w:f J/
base of a right angled triangle?
vi- State the converse of pythagoras theorem. _é ke Euf (. Jg ~Vi
vii- Define altitude of a triangle. sy Seoa Ll ek _vii
viii- Construct AABC, in which o UL s AABC v
mAB=32cm,m BC=42cm, mCA =5.2¢cm m;‘—é = 3_201n,1n§6 =42 cm, mCA =5.2¢cm
ix- Define incentre of a triangle. ..Z‘i—:o.—y/.;J/(/ (}m‘i L e Lix
(uf/:} 4 Loz p ol A8 LJrs) SectionI (2 >
Note: Solve any THREE (3) questions. However -¢ U €)) ;/.j Jlr(f t‘-éqf = Uy (3) L (j:( 0%
question No. NINE (9) is compulsory.
5- 3 -1 . 311 () 5
(@ B =[2 _2} , then prove that BB = | BB =12 =t in B =[2 _2} A
216y x 25)/? 216/7* x25)/? £
b) Simpli - Z & —
(b) Simplify (08) 2 (04) 12 : -
6- (a) Use log table to find the value of 0.8176 x13.64 0.8176x13.64 é(}”.wf e uwle (;%’ () -6
(b) If Sx—~6y =13 and Xy =6 then find the value of 125%°=216y> Js xy =64 5x=6y =13 J (&)
125%° - 216y’ L peed §
7- (a) Factorize by factor theorem 4 x*—10x+8 X+ x*-10x+8 ’c.i:df.”c_, 24 de.l’/ (@ -7
(b) Use division method to find the square root é(}‘” EH e K42 (::J,:u)e ()
X X y y2 x2 X y y2
'—2—]0—+27—10—+‘—2— '—7—10'—+27—10—+'—2—
y ¥ X x y ¥ X x
5(x-3 X 5(x-3 X
8- (a) Solve ( )—X=1——— ( )—x=l—— L f () -8
6 9 6 9 -
(b) Construct the triangle ABC and draw the perpendicular -~ Saning€ it f L Lol sl 2t ABC &2 (&)
bisectors of the sides mXE =53cm,mZLA = 45°, m/B = 30°

mAB=5.3cm, mZA =45°, mZB=30°

9- Prove that any point inside an angle, equidistant from its st L 1B L St st £ ois Jrﬁf’é/ ¢ -9

arms, is on the bisector of i. - e b Bty g ot £ gy 15 e T b ol =
OR L
" Ty &,
Prive that triangles on the same base and of the same G L sl U Chs 4 o4l .{uz u.?j/&'fzfl:a:k‘
(i.e equal) altitudes are equal in area. _Ju:f Lt Ju e Un 4z
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1- The conjugate of 5+ 4i is

: 5+4i (D) 5—-4i (C)
2- 1 1
——-—"isequal to
a-b a+b
-2b. () - ~2a ©)
a2t al—b?

3- HC.F.of a%~b” and a’~b’ is
a?—ab+b> (D) aZ+ab+b® (C)

4- x=0is a solution of the inequality

x-2<0 (D) x+2<0 (C)
o
5- Product of [X Y][_li\ is equal fo
[(x+2y] (D) [2x-y] (C)
6- logp—logq=
1og(£} ©) EP )
q logq
7-fx=2, y=2x+1 thenyis equal to
5 (D) 4 (C)
8- Find m so that x*+4x+mis a complete square
16 (D) 4 (C)
9- The diagonals of a parallelogram ___ egph other.

trisect 2. (B)
dvide = (D)

10- Symbol used for congruent is
< (D) > ©)

11- Bisection means to divide into

1 (D) 2 (C)

12- A triangle having all sides equal, is cailed
scalene LUl (B)
right triangle &%/ (D)

13- In a parallelogram, opposite ‘angles are
concurrent &% (D)

14- In a triangle, there can be

greater <% (C)
right angle/angles.
1 (D) 2 (C)

15- A triangular region is the

of a triangle and
" its interior.
difference J/ (D) sum « (C)
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equal part/parts.

§.J,€KK5+4i 121

-5-4i (B) -5+4i (A
' | R B
e s — =~
¢ a—b a+b
2b g 2a -
.'.12—b2 ( )' .'«12—h2 *)
o P a’-b ma’-b 3
a+b (B) T a-b (A
c‘;dgf.bfd’ﬁal:l//fx=0_4
3x+5<0 (B) x>0 (A)
2 ) _
& 4 [x ¥] 0 S -5
[x-2y] (B) [2x+y] (A)
logp-logq = -6

log(p-a) (B)

1og(ﬂ) (A)
P

e dryiny=2x+1,x=2/117

3 (B) 2 (A)
¥l lrJy x>+ 4x+m g;;fufd/m -8
-8 (B) 8 (A)
Ui s r o d/g_./» .{1 };L Luei gt -9
‘bisect =2 (A
bisect at rightangle > (C)
e Bl el LB 10
~ (B) = (A)
et PR T e S A
4 (B) 3 A

e Qs cum sz U § Lot U £ U7 2 T 212
AU (A)
equilateral &L el (C)
o Lsgsls e L Lo S5 13
smaller L% (A)

isosceles

equal « (B)

P E eile Engizfi ___ Jaky 14
' 3 (B) 4 (A
Swﬁb/_é;,/;réwmwf 215
J u

union Ly (B) intersection (W (A)
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Note: Section I is compulsory. Solve any THREE (3) questions (3) L 3 e o gl Uil 129
from Section II. However question No. NINE (9) is compulsory - U CF) /J Jir f" t'..c“._{d' o Ul
Section I (Jil.®
2- Write short answers to any SIX questions: (2x6=12) -é ,/iauzﬁéamr(s)gc;éf -2
_ ) s -10 5 -10 .
i- Check matrix is singular or non-singular D =| ) 4 D= ) 4| A et et -i
ii- Define identity matrix. 2 P8 35 80 i
it Simplify 25x]0ny8m [25X10ny8m 23:/‘-3 Jii
iv- Write in a+ib form («/§—3i)2 (\E—Bi)2 é,/f“uf JgJ a+ib _iv
v- Write in the form of a single logarithm 2 logx— 3 logy 2logx— 3logy Z;:qui’ J’Jﬁs’uu -V
vi- Find value of x when log, 64 =2 log 64 =2 £ ir:l”.wf J X Vi
1 1 1 1 .
vii- Simpli oD ok ———)[\f - ——j (\/5 + —j[\/i - ———) =5 2 _vii
P ( BNTTR BN TR
xy-22 X’y-2z i
viii- Evaluate the value of ———— when LS (}”./’ J—— -
Xz Xz
x=3,y=-l,z=-2 x=3,y=-1,z=-2
ix- Factorize 144a%+ 24a+1 | 144a%+ 24241 ZE6F -
3- Write short answers to any SIX questions: (2x6=12) -q'{ ;/’uuyf"’a:umr(sw c:..Jf -3
i- Find the sqaure root using factorization g B 7P i
I 5 1 1 LI
—x - —xy+—y’ : —x’ = —xy+—y’
16 12 36 - 16 12 36
i- Solve the equation 3/2x—4-2=0 Jox—4-2=0 éd’f:.abl/ i
ii- Define Non-Strict inequalities. e ) i
iv- Define Collinear Points. -’cff 7 S b BE v
9 9 -
v- Find the value of 'F" at C=10 when F=~C+32 =5 C+32 =10 G i JFT
vi- Find the distance between two points & (#do o £ b 2 Lés i
A(3,-11),B(3,-4) A(3,-11),B(3,—4)

vii- Define equilateral triangle. & ._y/""J:AfA Lo Gsbr i
vii- What is meantby A.S.A=A.S.A el fe ASAZAS.A i
ix- If one angle of a parallelogram is 130°. Find the L1 s € 130° o000 L1 6 LWk d)lP..{lfl -ix
measures of its remaining angles. -’é r}" o4 g gt JL
4- Write short answers to any SIX questions: (2x6=12) ..’4{ {/@Qlﬁf'&@ﬂw(smc—éf -4

i In the given figure CD is right bisector of the line —e it F ¥ AB 125 CD M J(ﬁfd) -i
segment AB.If mAB =6cm then find m AL & mAL In mAB = 6cm i
c ¢
L L
A B A B
D D

(’4".'&11)
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-~ YT .
< i- 2cm, 4cm and 7cm are not lengths of the triangle. _UF SFUEH § el £ et u’(7cm »l4cm, 2cm i
Give reason. _2; wolds o Jf:
iii- Define Congruent triangles. g i U Sl i
iv- Find the unknown value in the given figure. RS U Ao g TV Lo v
; X 13cm
S5cm
v- Verifythat a = 16cm, b =30cm and ¢ = 34cm are sides ¢ =34cm L b=30cm,a =16cm SEIF v
of a right angle triangle. - Uk S £ Iy Py
vi- Define Rectangular Region. sk .»y}d’.?u: u,w/ -vi
8cm
vii--Find the area of the given figure. : -Z;rﬂ"‘.}/ KLF éfd) ~Vii
4cm
-1
viii- Define Circumcentre. S e i
ix- Construct AABC in which’ U ek ABC &8 ix
mA_é =42cm, mﬁ =3.9cm, mEA— =3.6cm m~A_B =42cm, mEE =39cm, ma =3.6cm

(u.t/? a7z / 8 LUl #) Section II (2 o

Note: Solve any THREE (3) questions. However - g (9) ]/.; Jir (‘ t'-éd’ = Ul (3) cf & J’( Ly
question No. NINE (9) is compulsory

5. (a) Solve by using the matrix inversion method é Sl T L ks () o5
2x+y=3,6x+5y=1 2x+y=3,6x+5y=1
o 216/Px (25)" 216/ x @5y £
Simplify o B ;|
implify (04) 12 (04 1/2 s =
0.678 x9.01 0.678 x9.01

2 ed e ou§ P (N 6

6- (a) Use logarithm to find the value of

0.0234 0.0234
(b) If m+ n+p =10 and mn+ np+ mp = 27 Jy mn+np+mp =27 Ly mentp=10 Ji (L)
then find the value of m”+n’+p’ s Nt m?+n’+p’
7- (a) Factorize the following cubic polynomial by SuM (}’/ A Cn S5t e sa Ju f S (7
factor theorem x°— x*— 22 x+ 40 Oox?-22x+40 £ 6F
(b) Find the value of 'k’ for which the following expression will &, J‘(/u)*f Jitne J 2{(}”:/3 & K (&)
become a perfect square 4x*—12x”+37x*~42x+k axt-12x°+37x - 42x+ k £ bk
X 2x X 2x
8 @) simpily oo =21 b 2 Bl o
(b) Construct the triangle ABC and draw the bisectors of %‘{ it L Ul sl &b ABC & (L)
angles mAB ¥4.2cm,m}—3—6 = 6cm,mEX =52cm mAB = 4.20m,m_BE = 6cm,ma =52cm
o- Any point inside an angle, equidistant from its arms, e Uik & U1 5 L) éfuf st L &sls u’fﬁ -9
is on the bisector of it. -& b gb £ =t L osls 1 5oy 30 il ol
OR b
Parallelograms on the same base and between same L U1l 13 0066 2 JEBI Lo $5157 (‘5': £ 04l .
parallel lines (or of the same altitude) are equal in area. (U 22 L & et y) U C’:l; u,t,a.) L u/ S
~Uf Gl B es
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